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Dual Plus Series
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TCS-Dual Plus-A (@EYY23Y) TCS-Dual Plus-F (Op#RY23x) TCC-Dual Plus-CB

EFSRTEES | 216008ZZ00488000 8 EASSUTREES | 2160082200491000 = (RO Tt + ) o Py T 32T )
A145(50Hz) / 04560200850202 A147(50Hz) / 045602008551 15 A154(50Hz) / 04562 199985040
A148(B0Hz) / 04560200850219 A148(B0Hz) / 04560200855122 A155(60Hz) / 04562 1999850657

TCC-Dual Plus-C (#RATIYTLwt) IIARSAY (PEABXIFT—RS/1) TCC-Dual Plus-D (g8t T7—KS147)
A149(50Hz) / 04562199985019 A153 / 04562199985521 A152 /04562129985514
A150(B0Hz) / 045621399985026
iR AL 3iH200V 3iH200V g ALY 315200V 3iE200V. = 18100V
\Worlet Hilg1 00V — N-rlw H35100V. = = =
BiT(50/60H) %> | 3.4/ 312A(318200V) 88/38.1A BT (50/ 60Hz) XA B47/7.9A 8.4/7.9A = 2.4/ 25A
Jwo7y7 |1 0.0A(EIHE100V) = iwore7 | 118/ 12.:2A = = =
Hh AL 0.75kW(318200V) 0.75kW. Hh AA 1.50kW 1.50kW = 0.18 / 0.20 kW
Jwary7 | D.8OKWEHIET00V) - 1Py 0.75kW = = =
BREBE > |07m¥minDE15.68kPa 9.0m¥/minDE196kPa BB ALY 0.88MPa 0.83MPa = ==
w7y 0.6mP/mindE14.8kPa = erp) 0.69MPa = ; =
EROM ALY 1~65P 1~3Pr FEED AL 0.59~0.83MPa 0.59~0.83MPa = =
ISPy 1~445Fh = Iwaryr | 0.49~0.69MPa = =
HAWXDXH B550X710X676 | B50X710X830 | HFHUERE X1 180L/min 160L/min = =
BERIRE A 750Xx800%800 | 750x900X 1000 Iwaryd | 76/ 921L/min = =
am #)90kg #88ke TWRISTER 10L+356L 10L+-35L == =
B = #64dB #65d8 R 5~40C 5~40C 5~40T 2~40C
)b (50/ 60+z) 4PKBED(ZENILRN) E—SlEEE | NIRRT (50/60H) = - — 0827037 m/min (ANF)
ADZRTRE = — -5~55C(@EMELITE) 5~80T
ACZTED — = 0.80~0.85MPa 0.156~1.00MPa
ADZEGTR — = 160L/min(#ANR) =
HOZSRE = = 154L/min(3ANR) =
YACSI Lok i 14 — — 6L/min(ANR) 5=
ZAMEIL—TRaE = = 0.30um(S5%H4E) =
NAJOAMY (U= @EE = = 0.01um(95%hiiiE) ==
TEWXDXH 550X790x1048 550X790X1048 370X122x467(RK) 270%x450%495
BiEREE 750x1000X1260 750%1000x1250 = =
% LI 2000BEDNENTY., Uk #147ke #12ike #5ke #28ke
B BE ) #5008 #5008 = =

M i i ~JU(50/ 60H) BVX=450//8V¥=425  ‘BVX=A450/ 3VX-455 = =



